Math 1B (9:30am — 10:20am) What month is your birthday ?
Quiz 8 Version R What are the first 2 digits of your address ?
Fri Jun 10, 2011 What are the last 2 digits of your zip code ?
What are the last 2 digits of your DeAnza ID number ?
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You may or may not need the following reduction formulae,
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NO CALCULATORS ALLOWED

SHOW PROPER ALGEBRAIC WORK
USE PROPER NOTATION & SIMPLIFY ALL ANSWERS WHERE REASONABLE

. 1 . 1
Find I o dx . SCORE: __/_[ POINTS
i
A ,
Let x= (-1 OR u=1+Jx= dx=2(u~1)dy
| I S I— <
2u -1 2 SEE AUTERNE
jldxzj d:j—(f'—*—z)duzj du
x+xvx x(1 +\/_) (u—1)"u L (u—-Du v e @
) e —— — I ") l,._“)__ ‘g_ (__«@"\-
b |4 B (_ AutBu-1)
= | J— — L —— - s s —
(e =Ly E:W’i‘:_!.___ L L (u =1u ¢ [ 140 versIon &
2 Au + B(u - 1)“ . i
u—O 2=-8 :>£=::2_--fi :,_ _________ B
U= 1 2 A P e l
- 7 1o Ay
. 2 2 2 -2 2 =2
SANITY CHECK: u=2 Z= — =24+ _==]
(u-Du 2 (=1 u 1 2

—_—
—
| |2
—
+
|
ik
i AR
2,
=
Il

21nfu~1| 21| +C = 2InVx-2In1+Vx)+C = Inx-2ln )+ C

%= = \ £ 3
2 s 2
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Find J' , SCORE: __/_| POINTS
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